
 
 
 
 

1 
 
 

Prep. 

Mid-Term- Second Term  Trig. & Geom.    

Questions 

 



 
 
 

2 
 
 

Mid-Term- Second Term   

 



 
 
 
 

3 
 
 

Prep. 

Mid-Term- Second Term  Trig. & Geom.    

 



 
 
 

4 
 
 

Mid-Term- Second Term   

 

 



 
 
 
 

5 
 
 

Prep. 

Mid-Term- Second Term  Trig. & Geom.    

 

 

 

  

4) 

5) 

6) 

3) 



 
 
 

6 
 
 

Mid-Term- Second Term   

 

 
 

 

7) 

8) 

9) 

10) 

11) 



 
 
 
 

7 
 
 

Prep. 

Mid-Term- Second Term  Trig. & Geom.    

 

  

12) 

13) 

14) 

15) 



 
 
 

8 
 
 

Mid-Term- Second Term   

 

 

  

1) 

2) 



 
 
 
 

9 
 
 

Prep. 

Mid-Term- Second Term  Trig. & Geom.    

 

  

3) 

4) 

5) 

6) 

  

(2) 

(2) 



 
 
 

10 
 
 

Mid-Term- Second Term   

Model Answers 
First Complete: 

(1) radius   (2) chord   (3) diameter  (4) diameter 

(5) infinite  (6) axis of symmetry  (7) three  

(8) tangent   (9) parallel      (10) its centre  

(11) equal in length     (12) >  

(13) perpendicular to the common chord and bisect it  

(14) distant   (15) touching externally 

(16) infinite  (17) congruent (coincide)   

(18) half the length of the line segment joining the two points.  

(19) the centre of the circumcircle.  

(20) inside – lies on – outside.  

Second match: 

(1)  (d)   (2) (e)  (3) (a)   (4) (c)  (5) (b)  

Third choose : 

(1) c  (2) a    (3) b    (4) a   (5) a  

(6) b   (7) d   (8) c    (9) d   (10) d  

(11) b   (12) c   (13) c   (14) a  (15) c  

(16) a   (17) b  (18) d   (19) a  (20) c  

Fourth Answer the following questions: 

(1)    ̅̅ ̅̅ ̅    ̅̅ ̅̅   ,     ̅̅ ̅̅ ̅    ̅̅ ̅̅   

     D , H are mid points of   ̅̅ ̅̅  and   ̅̅ ̅̅  respectively  

   DH = 
 

 
CB = 8   2 = 4 cm.  



 
 
 
 

11 
 
 

Prep. 

Mid-Term- Second Term  Trig. & Geom.    

 (2)    C is a mid point of   ̅̅ ̅̅   

      ̅̅̅̅̅    ̅̅ ̅̅  

In   AMC 

MC2 = AM2 – AC2 = 169 – 144 = 25  

MC = 5 cm  ,     MD = 13 cm 

  CD = 13 – 5 = 8 cm.  

area of   ADB = 
 

 
 x AB x DC  

   = 
 

 
 x 24 x 8 = 96cm2  

(3)  cir. =   XD   44 = 
  

 
 x D  

   D = 14 cm  

     ⃡     is a tangent.  

  m( ABC) = 90  ,    m( A) =30  

  BC = 
 

 
 AC 

Let BC = x  , AC = 2x  

AC2 = AB2 + BC2  

(2x)2 = (14)2 + (x)2  

4x2 = 196 + x2  

3x2 = 196     x2   65.33 

  x = √        8.08 cm = BC  

(4)            and          are two tangents  

     ̅̅ ̅̅ ̅      ̅̅ ̅̅    ,   ̅̅ ̅̅̅      ̅̅ ̅̅   

   m( A) + m( B) =180   

   AMBC is acyclic quad.  

   m(  DMB) = m(  ACB)  

            Exterior = opposite interior  
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(4)  In circle M       ⃡     is a tangent  

     ̅̅̅̅̅       ⃡       ,    C     ̅̅ ̅̅ ̅   

     ̅̅ ̅̅       ⃡      ,  

In circle N,    ̅̅ ̅̅  is a chord  

,     ̅̅ ̅̅       ⃡        

 In circle N ,     ̅̅ ̅̅  is a chord  

,     ̅̅ ̅̅ ̅      ̅̅ ̅̅    ,  

  C is a mid point of   ̅̅ ̅̅   

    AMC , BMC  

    ̅̅̅̅̅ is common side  

, CA = CB  

, m(  MCA) = m( MCB)  

    AMC     BMC  

  MA = MB  

(5)   M , N are two intersecting circles,   ̅̅ ̅̅  is the common chord.  

     ̅̅ ̅̅ ̅     ̅̅ ̅̅   ,   m (  AFN) = 90   

   E is a mid point of   ̅̅ ̅̅  

     ̅̅ ̅̅       ̅̅ ̅̅  , m (  CEF) = 90  

  m (  AFN) = m(  CEF) = 90    corresponding angles  

     ̅̅ ̅̅  //   ̅̅ ̅̅   

(6)       ⃡     is the common tangent  

     ⃡            ⃡      

   B   MN ,    ⃡     tangent (N)  

     ̅̅ ̅̅ ̅    ̅̅ ̅̅  
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     ⃡     //    ⃡      

    ̅̅ ̅̅ ̅    ̅̅ ̅̅        ̅̅ ̅̅  is a chord in circle M  

  B is the mid point of   ̅̅ ̅̅   

  BD = BE  

(7)  construction    Draw   ̅̅ ̅̅  and   ̅̅ ̅̅  

            is a tangent to circle M at A  

    ̅̅ ̅̅ ̅              ,     ̅̅ ̅̅  //   ̅̅ ̅̅   

   m(  AXE) = 90   

             is a tangent to circle N at D 

     ̅̅ ̅̅                ,       ̅̅ ̅̅  //   ̅̅ ̅̅   

   m (  DYB) = 90   

   AXDY is a rectangle     AX = DY  

   M and N are two congruent circles  

   MA = ND     MX = NY  

    ̅̅̅̅̅      ̅̅̅̅   ,    ̅̅ ̅̅      ̅̅ ̅̅  

  EF = BC               (1) (1st)  

  Ay = XD               (2)  

    ̅̅̅̅̅      ̅̅̅̅   

  x is a mid point of   ̅̅̅̅   

similarly y is the mid point of   ̅̅ ̅̅  

  EF = BC     BY = XE    (3) 

 Subtracting (3) from (2)  

  AB = DE   (2nd)  
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(8)  construction: Draw   ̅̅ ̅̅       ⃡     

     x and y are mid points of   ̅̅ ̅̅  and   ̅̅ ̅̅  respectively.  

     ̅̅̅̅̅      ̅̅ ̅̅  and   ̅̅̅̅̅      ̅̅ ̅̅   

   AB = CD  

   MX = MY  

  MXY is an isosceles   

   LX = LY   (1)  

     ̅̅ ̅̅     the chord   ̅̅̅̅  

   EL = LF    (2)  

By subtracting (1) from (2)  

We get  XE = YF  

(9)    MN are two intersecting circles.  

     ̅̅ ̅̅ ̅      ̅̅ ̅̅   

  x is the mid point of   ̅̅ ̅̅   

    ̅̅ ̅̅      ̅̅ ̅̅    

  AB = AC  

  NX = NY  

(10)    E is the mid point of    ̅̅ ̅̅    

    ̅̅̅̅̅     ̅̅ ̅̅    

    ̅̅ ̅̅  //   ̅̅ ̅̅  

    ̅̅ ̅̅      ̅̅ ̅̅    

  F is a mid point of   ̅̅ ̅̅  

  FC = FD  
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(11)    E , D are the mid point of   ̅̅ ̅̅   and   ̅̅ ̅̅  respectively  

    ̅̅ ̅̅ ̅     ̅̅ ̅̅    

      ̅̅̅̅̅     ̅̅ ̅̅     

In   EMF  

  m (  MEF) = 90   , EM = EF  

  m(  EMF) = 
       

 
 = 45   

M (  EMD) = 180  - 45  = 135  

In the quad ADME  

m ( A) = 360  - (90  + 90  + 135 ) = 45   

(12)  constructions: Draw   ̅̅ ̅̅  and   ̅̅ ̅̅  

     ̅̅ ̅̅  //   ̅̅ ̅̅   

   m (  ̂) = m (  ̂)  

   AC = BD  

    AXC and BYD  

M ( DYB) = m (  CXA) = 90    

CX = DY  

AC = DB  

     AXC     BYD 

   AX = YB  
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(13)  The distance is the length 

of the perpendicular from 

the centre of the circle to   ̅̅ ̅̅   

Distance = 4 cm.  
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(15)     ̅̅ ̅̅  is a diameter  

  m ( ACB) = 90  

                        

  m (  ADM) = m (  ACB) = 90  

(corresponding)  

    ̅̅ ̅̅ ̅ //   ̅̅ ̅̅   

    ABC right angled at c  

  m ( A)= 30   

  CB = 
 

 
 AB  

General Exercise on the 2nd unit  

First: 

(1) supplementary    (2) equal in length  

(3) central angle subtended by the same arc.  

(4) (1) 132    (2) 264   (5) measure  

(6)  a) 36   b) 72   c) 144   

(7) acute angle   (8) equal  

(9) the inscribed angle subtended by this arc.  

Second :Choose:  

(1) c  (2) c   (3) d   (4) d   (5) d   (6) d,a  


